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2)

80mm
1
150x150mm 12-D6 1-D4@60
pPg=1.71% pw=0.29%
150%150mm 12-D6 1-D4@40
pPg=1.71% pw=0.44%
90x90mm 4-D6 [1-D4@60
pPg=1.58% pw=0.49%
90 2-D6 pt=0.54% 1-D4@110
Y1l Y2 X 150mm 2-D6 pt=0.54% pw=0.27%
90 3-D6 pt=0.81%
X2 X3 X 150mm 2-D6 pt=0.54%
90 1-D4@55
X1 X4 X 150mm pw=0.53%
450 6-D19 pt=1.41% 4-D10@60
x 300mm 6-D19 pt=1.41% pw=1.05%
19.0
D4@80
80mm
D4@110 600x 300mm
Y1 45mm ps=0.27% 0.4
1-D6
D4@110
X1 45mm ps=0.27%
D4@110 300mm
X4 45mm ps=0.27%
700 8-D16 pt=1.52% 4-D13@167
Y1 Y2 X 200mm 8-D16 pt=1.52% pw=0.43%
t9.0
490 6-D16 pt=1.62% 4-D13@167
X1 X2 X 200mm 6-D16 pt=1.62% pw=0.62%
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450kN
2
RC (kN) kN kN kN/m?2
R 17.9 73.9 91.8 13.6
4 20.5 55.4 75.9 11.2
3 20.5 55.4 75.9 11.2
2 20.5 55.4 75.9 11.2
79.4 240.1 319.5 11.8
36.0 36.0
4.5mx1.5m=6.75m2
2)
3 4
1 4 10mm 13mm
25mm
3
N/mm?2 N/mm?2 N/mm?2
D4 13.2mm?2 371 540 1.95x105
D6 31.7mm?2 374 560 2.03x105
D19 286.52mmz2 | 375 584 1.94x105
0.2%
4
N/mm?2 N/mm?2
Casel |4 34 31.1 2.21x104
3 41 28.4 2.04x104
2 48 32.1 2.16x104
1 55 31.2 2.19x104
67 46.2 2.85x104
34 51.2 2.85x104
Case2 |4 67 33.9 2.16x104
3 74 29.3 2.02x104
2 81 33.5 2.15x104
1 88 33.2 2.19x104
100 49.0 2.82x104
67 52.8 2.75x104
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5 Run
Run
1 2 3 4 5 6 7 8 9
Casel 0.05 | 0.2 0.4 0.6 0.8 1.0 1.25
Case2 0.05 | 0.2 0.4 0.6 0.8 1.0 1.25 |1.25 | 1.25
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7)

a)
Case 7 8
Casel 1 Y1
Run?7 Run X4
X4
X1
Case? Run Casel
X4
Y1
Run8 Run9
Run
7 Casel
Run X
1
Runl 5% 1/8500
Run2 20% 1/1550 1 1
Run3 40% 1/615 1
Run4 60% 1/381 2 4
Run5 80% 1/209 1
Run6 100% | 1/124 1 2
Run7 125% | 1/32 1
8 Case2
Run Y
1
Runl 5% 1/3710
Run2 20% 1/1540 1 1
Run3 40% 1/472 1
Run4 60% 1/155 1 1
Run5 80% 1/71 1
Run6 100% | 1/22 1 3
Run7 125% | 1/23
Run8 125% | 1/21
Run9 125% | 1/26
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